9.2 Reference Triangles PRACTICE

| Find the reference angle. |
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| Use the given point on the terminal side of the angle 6 to find the trigonometric function indicated.
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| Draw the reference triangle. Find the EXACT value of the trig ratio for 6.
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| Draw the reference triangle. Find the EXACT value of the trig ratio for 6.

15. Given tan 8 = 15—: in quadrant III. 16. Given cosf = —g where 90° < 8 < 180°.
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17. Given tan 6 =-13—5 where 270° < 8 < 360° 18. Given cos = _"3_§ in quadrant II "
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19. Given tan @ =3 where 180° < 8 < 270°
Find cos#

20. Givensiné = %in quadrant II
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| Solve the following.
27. x*=3x+20=9x 28. 20 =%(b)* 29. 20 =§(2)*
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